LOS ANGELES AREA CERTIFICATE OF ORIGIN				
CHAMBER OF COMMERCE	TO VALIDATE, GO TO Certificate Number : LA-COO-51862-66ec8bc1ed11a VERIFY.FTGS.US Date : September 19, 2024			
Seller (Exporter) CANTRIP CANDLES 5427 Santa Monica Blvd	Transport Type Air	Port of Loading Los Angeles	Port of Loading Los Angeles	
Los Angeles CA USA	Destination Country Australia	VV////////////////////////////////////	Destination Port South Hurstville	
Consignee Aetherworks	Export Date 2024-09-17	Exporting Carri UPS	Exporting Carrier UPS	
Aetnerworks Warehouse A 55-57 Halstead St South Hurstville	Import Permit Number	Bill of Lading /	Bill of Lading / AWB	
Australia	Owner or Agent	Forwarding Age	Forwarding Agent *********	
Buyer (Importer)	Remarks		निक्ष अक्षान	
Description				
(May include notes on Quantity, Item Number, Marks and Numbers, K	(ind of Packages.)	Weight	Country of Origin	
Scented soy wax candles, various		209 lbs	United States	
H.S.Code: 3406.00				
Souvenir enamel pins H.S.Code: 7113.19	0.2	China		
H.S.Code: 3406.00 Souvenir enamel pins H.S.Code: 7113.19 Cotton tote bags	3.15	India		
H.S.Code: 4202.22	PC	3.13		
Cardboard retail display	m	.70 lbs	China	
H.S.Code: 4823.00 CERTIFICATE OF O	RIGIN			
======================================	32100201			
Topio CHAMBERS FEDER				
Name of Authorized Trade Association	 The above-mentioned goods o origin applicable in the country(es) to those goods. te and in any documents provided e, true and complete. vise LAACC and any other person(s ficate is provided to with the know hange in such information, or in th d present upon request, such docur ss of this certificate and accompar s issuance of this Certificate, the A	d above and comply with the rules of to the Los Angeles Area Chamber of s) to whom the applicant provides this ledge of the Applicant) promptly in writing e origin of goods. mentation as is necessary to verify the nying documents. pplicant agrees to release, discharge and ance of this certificate and to indemnify in connection herewith.	

INVOICE



Tax ID: 0002987471-0001-1 info@cantripcandles.com; Website: www.cantripcandles.com

Invoice No#: 0304 Invoice Date: Aug 22, 2024 Due Date: Sep 21, 2024

CANTRIP

CANDLES



A\$7,744.50 Amount due

BILL TO

Aetherworks Chris Batt Warehouse A, 55-57 Halstead St, SOUTH HURSTVILLE NSW 2221, AUSTRALIA christopher.batt@aetherworks.intercommail.com Phone: 61498007000 SHIP TO Aetherworks Chris Batt Warehouse A, 55-57 Halstead St, SOUTH HURSTVILLE NSW 2221, AUSTRALIA

#	ITEMS & DESCRIPTION	QTY/HRS	PRICE AI	MOUNT(A\$)
1	Abella, Goddess of Rebirth 16 oz	2	A\$64.00	A\$128.00
2	Adventurer's Emporium 6 oz.	4	A\$26.00	A\$104.00
3	Adventurer's Emporium 9 oz.	2	A\$37.00	A\$74.00
4	Adventurer's Emporium 16 oz.	1	A\$64.00	A\$64.00
5	Black Hound Tavern 6 oz.	4	A\$26.00	A\$104.00
6	Black Hound Tavern 9 oz.	4	A\$37.00	A\$148.00
7	Black Hound Tavern 16 oz.	2	A\$64.00	A\$128.00
8	Brinewater Tides 6 oz.	4	A\$26.00	A\$104.00
9	Brinewater Tides 9 oz.	2	A\$37.00	A\$74.00
10	Brinewater Tides 16 oz.	1	A\$64.00	A\$64.00
11	Coffee Shoppe 6 oz.	4	A\$26.00	A\$104.00
12	Coffee Shoppe 9 oz.	2	A\$37.00	A\$74.00 🖞
13	Coffee Shoppe 16 oz.	1	A\$64.00	A\$64.00
14	Den of Thieves 6 oz.	4	A\$26.00	A\$104.00
15	Den of Thieves 9 oz.	2	A\$37.00	A\$74.00 ⁹ /28
16	Den of Thieves 16 oz. Behæd, Sama	1	A\$64.00	A\$64.00
17	D'Jall, Lord of Bargains 16 oz.	2	A\$64.00	A\$128.00

18	Dungeon Depths 6 oz.	4	A\$26.00	A\$104.00
19	Dungeon Depths 9 oz.	2	A\$37.00	A\$74.00
20	Figwood Orchard 9 oz.	2	A\$37.00	A\$74.00
21	Florence, Prince of Death 16 oz.	2	A\$64.00	A\$128.00
22	Forest of Fae 6 oz.	1	A\$26.00	A\$26.00
23	Forest of Fae 9 oz.	2	A\$37.00	A\$74.00
24	Forest of Fae 16 oz.	1	A\$64.00	A\$64.00
25	Goldwheat Bakery 6 oz.	4	A\$26.00	A\$104.00
26	Goldwheat Bakery 9 oz.	2	A\$37.00	A\$74.00
27	Healing Potion 10 oz.	4	A\$46.00	A\$184.00
28	Healing Potion Wax Melts 5 oz.	1	A\$24.50	A\$24.50
29	Hithmari High Desert 6 oz.	4	A\$26.00	A\$104.00
30	Hithmari High Desert 9 oz.	2	A\$37.00	A\$74.00
31	Hithmari High Desert 16 oz.	1	A\$64.00	A\$64.00
32	House of the Witch 6 oz.	4	A\$26.00	A\$104.00
33	House of the Witch 9 oz.	4	A\$37.00	A\$148.00
34	House of the Witch 16 oz.	2	A\$64.00	A\$128.00
35	Javid, Steward of Knowledge 16 oz.	2	A\$64.00	A\$128.00
36	Jungles of Makal 6 oz.	4	A\$26.00	A\$104.00
37	Jungles of Makal 9 oz.	2	A\$37.00	A\$74.00
38	Jungles of Makal 16 oz.	1	A\$64.00	A\$64.00
39	The Library Scriptorium 6 oz.	4	A\$26.00	A\$104.00
40	The Library Scriptorium 9 oz.	4	A\$37.00	A\$148.00
41	The Library Scriptorium 16 oz.	2	A\$64.00	A\$128.00 🏅
42	Long Rest 13 oz.	4	A\$53.00	A\$212.00 <u>e</u> `
43	Maevenon, Patron of Faces 16 oz.	2	A\$64.00	A\$128.00
44	Magicka Potion 10 oz.	4	A\$46.00	A\$184.00
45	Mountaintop 6 oz.	4	A\$26.00	A\$104.00
46	Mountaintop 9 oz.	4	A\$37.00	A\$148.00
47	Mountaintop 16 oz.	2	A\$64.00	A\$128.00
48	Ozul, The Sentient Forge 16 oz.	2	A\$64.00	A\$128.00
45	Potion Back Sampa 3-pack	2	A\$124.00	A\$248.00

50	Realm of Shadows 6 oz.	4	A\$26.00	A\$104.00
51	Realm of Shadows 9 oz.	2	A\$37.00	A\$74.00
52	Realm of Shadows 16 oz.	1	A\$64.00	A\$64.00
53	Sample Pack Contains 9 scented tea lights	6	A\$27.00	A\$162.00
54	Sanctuary 6 oz.	4	A\$26.00	A\$104.00
55	Sanctuary 9 oz.	4	A\$37.00	A\$148.00
56	Sanctuary 16 oz.	2	A\$64.00	A\$128.00
57	Stamina Potion 10 oz.	4	A\$26.00	A\$104.00
58	Stonemoss Chapel 6 oz.	4	A\$26.00	A\$104.00
59	Stonemoss Chapel 9 oz.	4	A\$37.00	A\$148.00
60	Stonemoss Chapel 16 oz.	1	A\$64.00	A\$64.00
61	Stonemoss Chapel Wax Melts	1	A\$24.50	A\$24.50
62	Summerplains 6 oz.	4	A\$26.00	A\$104.00
63	Summerplains 9 oz.	2	A\$37.00	A\$74.00
64	Summerplains 16 oz.	2	A\$64.00	A\$128.00
65	Walk in the Woods 6 oz.	4	A\$26.00	A\$104.00
66	Walk in the Woods 9 oz.	4	A\$37.00	A\$148.00
67	Walk in the Woods 16 oz.	2	A\$64.00	A\$128.00
68	Brinewater Tides Wax Melts 5 oz.	1	A\$24.50	A\$24.50
69	Roll with Pride Pin	10	A\$15.00	A\$150.00
70	Game Master Pin	10	A\$15.00	A\$150.00
71	Tote of Holding Black	3	A\$30.00	A\$90.00
72	Tote of Holding Navy	3	A\$30.00	A\$90.00
				e



73 Tote of Holding Olive Green	3	A\$30.00	A\$90.00
74 House of the Witch Wax Melts 5 oz.	1	A\$24.50	A\$24.50
75 Brinewater Tides Wax Melts 5 oz.	1	A\$24.50	A\$24.50
76 Retail/Convention Cardboard Riser Display	1	A\$0.00	A\$0.00
STATE CHAMBER OF	Subtota	al	A\$7,744.50
Behzad. Sampa	ΤΟΤΑ	L \$7	7,744.50 AUD

NOTES TO CUSTOMER

HS Code 3406.00 for ALL candles (all parcels) HS Code 7113.19 for pins in (in Box 5 of 7) HS Code 4823.00 for cardboard retail display (Box 6 of 7) HS Code 4202.22 for Tote Bags (in Box 7 of 7)

